Appendix 1: Reflective exercise example



Should a country that is less efficient at producing all goods use import controls to reduce imports from other countries? 

The Setting

This is an important problem as it raises a number of topical questions that are currently subject to economic debate:

Should we protect the manufacturers of certain goods from international competition? Or should we impose tariffs or quotas on imports and/or subsidise exports? Is free trade desirable?

In order to answer this we are going to illustrate the effects of trading by examining an example.
Section 1: Setting the framework for investigating the question

Which of the following alternatives do you think is more appropriate for examining an example illustrating this problem?

[image: image1.png]


 A
Tick the answer you think is the most appropriate 



	a
	Two countries and two products
	

	b
	Three countries and three products
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 B
Tick the answer you think is the most appropriate

	a
	If a country produces more of one good it will be able to produce less of other goods
	

	b
	If a country produces more of a product it will be able to produce it more efficiently
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 C
Tick the answer you think is the most appropriate 



	a
	We will assume that neither country has an unemployment problem
	

	b
	We will assume that there is unemployment in both countries
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 D
Tick the answer you think is the most appropriate

	a
	A better situation is where more of all goods are produced (and consumed)
	

	b
	A better situation is where less of some goods are produced as this will reduce pollution
	

	c
	A better situation is where either more of good A and less of good B OR more of good B and less of good A are produced
	


Now consider an actual example

Two countries are both the same size and all resources are fully employed. Each is producing handbags and iPods and currently allocates half of its country’s resources to each commodity. Each is producing the quantities given below. At present each consumes what it produces (i.e. there is no trade). Note that country A is richer – it can produce more of both commodities than country B.

	
	Country A
	Country B

	Handbags
	500
	270

	iPods
	100
	90
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 E
Write your answer in the boxes 

	a
	How much does it cost to produce one iPod (in terms of handbags forgone) in country A?
	

	b
	How much does it cost to produce one iPod (in terms of handbags forgone) in country B?
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 F
Write your answer in the boxes 

	a
	Which country has the lowest opportunity cost of producing iPods?
	

	b
	Which country has the lowest opportunity cost of producing handbags?
	


[image: image7.wmf] Section 2: It now becomes possible for the two countries to trade. Should the government of country B introduce an import tariff on handbags to prevent future possible imports? You may want to use the numbers in the example above to help develop your answer.


 Yes


No

Argument in support of your decision

[image: image8.wmf]Feedback Section 1: Setting the framework

Review your answers in the light of the economist’s approach below. Were your answers the same? If not, think about why they are different.
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 A 


We will start from the simplest framework we can to illustrate the points, which is (a), and then generalise. We will only move to a more complex situation if the effect cannot be illustrated in this simple framework. Here we will find that it can. 
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 B 


The general assumption is that, although it may take some time to do this, resources can shift and be used in other areas of production, that is (a) is appropriate. We ignore the time dimension in the model as a simplifying assumption. We also do not have to assume (b) here. This may also be true, but introduces a complication that is not necessary for our argument (and if it is true it will give further support to our conclusion). 
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 C 

We do assume full employment – otherwise the countries could be in a position where they could produce more of everything. Also unemployment is seen as another problem and we want to keep things as simple as possible. Thus (c) is correct.
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 D


We will assume (a); that more consumption is good.

(b) is another issue, which may be important but is not our concern here. 

(c) involves the complication of what different consumers want and some may feel themselves worse off, whereas with (a) all consumers can be as well off and at least some consumers can be better off.

There are also other fundamental assumptions in the background to our approach which you will examine (and perhaps reject, or reject in some circumstances) when these are discussed as the topic is further developed in your course. 

THE APPROACH IS TO NOT INTRODUCE UNNECESSARY COMPLICATIONS INTO THE EXAMPLE – START WITH THE SIMPLEST
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 E


 (b) Country B is producing 90 iPods and 270 handbags at present. To produce one extra iPod means 270/90 = 3 less handbags will be made.
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 F
 (b) To answer this question we need to do calculations similar to (a), but in terms of what it takes to get one extra handbag. In county A this is 100/500=1/5. In country B it is 90/270=1/3. Thus the opportunity cost of producing handbags is lowest in country A.
[image: image15.wmf]Feedback Section 2: The approach of economics 
The imposition of an import tariff is a move away from ‘free trade’. Economics starts by considering what happens if the countries engage in free trade, as theory suggests that gains can often be made. We do this by looking at the opportunity cost of production in the two countries with the aim of showing that overall more of both goods can be produced (and consumed) by allowing specialisation and trade.

So what are the opportunity costs of production in both countries?

In sections D and E we established that country B has a lower opportunity cost (a comparative advantage) in iPods as it has to give up less resources than country A to make an extra iPod (and vice versa for handbags). 

What does this mean in terms of the total production in both countries?

If country B specialises in iPods (and country A in handbags), total production across the two countries can increase in both of the commodities because they can use the resources more effectively. 

We can show this in a numerical example. If, for instance: 

	
	Country A
	Country B
	Total production

	iPODS
	–20
	+66*1/3=22
	100+90-20+22=192 (up from 190)

	handbags
	+20*5=100
	-66
	500+270+100–66=804 (up from 770)


How can trade therefore enable increased consumption of both goods in both countries?

The countries can adjust their consumption patterns by trading and since there are more of both commodities produced than before it is possible, by sharing the increase, for each country to consume more of BOTH commodities (see section 1D). 

For instance, if country A exports 80 handbags to B in return for 21 iPods:

* country A now has 1 more iPod and 20 more handbags 

* country B now has 1 more iPod and 14 more handbags 

They have both gained! 

(Note that this argument does not depend on economies of scale.)

What does this do to unemployment in country B?

People transfer from producing handbags to iPods in country B. There is no increase in unemployment. This is because we have assumed resources are mobile (see section 1B).

This then provides an argument against an import tariff by country B on handbags. There are some arguments for tariffs in particular circumstances, but unless these apply, it is not in the best interests of county B’s citizens to impose such a policy.
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Yes Partly No

	1.
	Refer to the opportunity cost of production? 
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	2.
	Show that trade can benefit both countries?
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	3.
	Recognise that in this model people switch jobs but there is no unemployment?
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Does it affect your explanation if people cannot readily change jobs because different skills are required or the expanding industry is in a different part of the country?

